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Multiple Choice Solutions
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B Chris has a square garden with an area of
NP

38.4 m?. as shown in the diagram.
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He decreases the length of each side by
1.7 m to make a smaller garden.

Which is closest to the perimeter of the
smaller garden?
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The sum of the perimeters of two shapes is
represented by 13x + 4y.

The perimeter of one shape is represented
by 4x — 2y.

Which expression represents the perimeter

of the other shape? p: PE';* fLE/kf ﬂ'?
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Which of the following is equivalent to

this expression?
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The cylinder below has a volume of

Which of the following is closest to the
area of the lateral surface of the cylinder?

150 cm?.
[ — _ Hint:
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c 150 cm?
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Consider the following chart and graph.

What temperature in degrees Celsius is

equivalent to —20 °F?

Temperature | Temperature
in degrees in degrees o
Celsius, C |Fahrenheit, F a —4°C
5° 41°
15° 59° b -18°C
25° 77°

d

@ 29 °C

—40 °C
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A bus is rented for a class field trip. The
transportation cost for the trip is made up
of $225 to rent the bus. $50 for gas and
$2 for each bus seat.

Which relation below describes the total
transportation cost for the trip if C is the
total cost in dollars and » is the number

A sports company uses the equation

C = 8t + 5 to represent the relationship
between the total amount charged to rent
a canoe, C, in dollars and the rental time,
¢, in hours.

What is the initial charge to rent a canoe?
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Data on distance travelled and the number ‘Which equation best represents the line
of hours spent travelling are shown on the of best fit for the data shown?
graph below. — 5y 4+ 33
The line D = 10n + 30 is also shown on @ D= Q/ 4 ,'../
the graph.
. ) = 10n + 18
Distange Travelled vs. Time
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) ) Which of the following is closest to Tyler’s
Tyler walks along a line leading from a

motion sensor. The graph below shows
information about Tyler’s walk.
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Which graph represents the equation

1 -
P:—E?}-i-:!?
®
&
10 1
9
8
7
/s
4
3
2
1
0 123456788910
b
10
9
8
7
6
5
4
3
2
1 |
» 1l
0 12345678910

o
P

— MW E g~ 0o

> 1
0 12345678910

> 1
0 123456788910

Which of the following represents an
equation of a line?

X y=2

y=x*—235

X 242 -25=0
d 2.\'+3‘1‘—5=0L/

What are the slope, m. and y-intercept, b,

of the line represented by _ ,ﬂc

3x— 2y +16=07 = =

K 5" C Clmargc 1o m b

@m='—:.b=8 -2

2 Y:m‘x}é = =

b m=%3b=-16 'FD 33

, rw - 3

¢ m=—35.b=-8 o
d m=—%.b=16

The graph below represents the relationship
between distance and time on Javier’s walk.

Distance vs. Time
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The total cost of hiring Beth’s Plumbing
Services is represented by the equation
C = 50t + 70. where C 15 the total cost
in dollars and 7 is the time in hours.

Next month, the rate will change to $60 per

hour, but the nitial charge will stay the same.

Which of the following describes how the
graph of the relation will change?

® The steepness of the line will increase.
b The steepness of the line will decrease.

X The vertical intercept will increase by
10 units.

The vertical intercept will decrease by

Consider the following graph.
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Which statement is false?

a The slope of AB is —2. v

b Theslopeof CDis 1. v’

¢ The y-intercept of the line through CD

. is —4.
10 unts.
d /The y-intercept of the line through AB
is—1. :}<’
Janelle draws a line that passes through 10
the points (—1. 6) and (0. 3). If Janelle
writes the equation of the line in 8
y = mx + b form. what are the values
53 -
of m and b? m:‘é,J_:?) o
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Last weekend, Jeremy travelled from his This weekend. Jefemy travels to his friendy’s
home to a friend’s house. The graph below house but leaves from school. Jeremy’s

represents the relation between D, the
distance from Jeremy’s home, and 1. the
time spent travelling to his friend’s house.

Distance from Jeremy's
Home vs. Time Spent Travelling

school is between his house and his friend’s
house.

/%S),Lee v sfa/:p;

If he travels at a faster rate this wéekend,
how will the line representing this trip
compare to the line representing the

D previous trip?

4

pd
b
pAREN :

Distance from Jeremy's home

Time spent travelling

This new line will

@smrt at a higher point and be steeper.

start at a higher point and be less
steep.

start at the current point and be
steeper.

start at the current point and be less
steep.



Ella wants a rectangle with

* a perimeter of 100 em and
» the largest possible area.

What are the dimensions of the rectangle
that satisfies her conditions?

,h( 10cm X 10 cm p" ﬁ(—D
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P  Consider the parallelogram shown below.
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What 1s thc perimeter of WXYZ?

a 28cm P:QUU)'F Q(g)
@ 30 em =209 !0
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d 34cm

A garden is in the shape of a rectangle and The playing chips of a board game are . L
a semicircle as shown below. stored in cylindrical plastic cases. The \V!“Ch of the follo.“ ng 1s C_lose"t to t_he
Z’T C - 3 ]4 [g) plastic cases have a volume of 25 120 mm? helght of one playmg Chlp 1f 50 playmg
X Y c and a diameter of 40 mm. chips can fit tightly into the plastic case
I _
k_ 5 10m 1577 Playing Chip Plastic Case as shown above?
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—10m—H U Q_D a 0.1 mm SO(OILP)
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Consider the diagram below.

a 1080°
@ 1800°
¢ 1980°
d 2160°

Which of the following is the value of y
in the diagram?

y+5§+ 30% 105” = 30"
@ Y 240°= 360
¢ 125°

IAVES =360°- RQD
d 130° =70°

What is the sum of the interior angles of
a 12-sided regular polygon?

N = #5ides = 1
(h=2) 1807
- (12~ 807
~ 1001%0°) = 1 800
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Open-Response Solutions

[@ Part-Time Job 0.06
Ezre works part-time at a clothing store. He earns $80 per week - f the value of his weekly

sales. Let s V‘G,Fresen’t the weekfy

This week Ezre earns $119. 5 GL166 I' " O’lOHQFS
What 1s the total value of his sales this week? L@'{L A V‘QFFESQVI ,{_ Ej
Show your work. ’{‘0’1‘&( amDMIﬂt Qﬂﬂ’led “’F O{D//&/E

o239 0.06s
A0 " 1,00

J. 6950 =5

A D58y
G o ba w:za\/\\)'

WQE{/\L{ soles eq\ar\/
o119 = 0.0 +3B0
. 19 -3D=0.0s+30 -30

2 4

a"' 36[ = O'%3
What'’s the Charge?

The table below represents the linear relationship between cost and repair time at an appliance store.

Ezre’s Holal sales
7[:‘)r ‘f)lﬁrwek weré ﬂégo.

Repair time, 1 Cost, C “Ts this relationship a direct or a partial variation?
(h) ($) .
L, 3 205 C, Circle one:  Direct variation w
C .
- 8 505 = Justify your answer.
When =0, C=25

Determine the initial value of this relationship. Show your

work. <
» 25 M"‘f)’&ﬂ, hre does
Initial value: 0 I?U'l' Puss Hq,«-l)u@]q the origv

Sfof:{f, = m TA& e@mﬁaﬂ o+ Tthe | In€ar relat jon

— b0 must ke the Form
- At
- Ca=0C C=60t+b
bt Since (3,205) lies on the e,
A 05 = 60(3) tb
= 180 _ o 2 ®oY =130 +b

3 b= R05-130°35



il Hot New Wheels

Cybelle and Peter each buy a car. The graph below represents the value of Cybelle’s car over time.

Value of Car vs. Time

V. b= 20000

1 1 | | m —_ A\j_ "’&D
- AT 6

- = =000

 Since the values

1 C’-F cars

EERE e Chayga at the

e Sdima, rd'(‘e e
4000 V&Fl?zﬁ;fs o w|:;t€§ isg -

0 12345 QH\@S&W‘?’

Time (years)
Peter’s car costs less than Cybelle’s. The value of both cars changes at the same rate.
[a W S

Value of car ($)

Determine a possible equation to represent the relationship between the value of Peter’s car. V]

in dollars, and time. 7, in years. /____; I h l [%Q, L@i— l';L
nirlial va m

T ONA 9
y= ~2000% + ) 000 g’ll” Hga; 9\[20”0 siae
AVAIYY n;‘ﬂd—-ﬁar d(’.CrQ S e—)(FQnSI\/G, i_Mh CY €/ !65
Justify your equation. f‘f“{‘ o
£ #2000 pex year
® TheNewLline Hope gan ke

h ‘/ mxc
A line has w -Ft?fi-}’l%
,ﬂ , * the same slope as the line represented by 4x — 3y + 15 = 0 and

R-;L * the same y-intercept as the line represented by 2x + y + 6 = 0.

Determine an equation of this line. Set = Do
Show your work. £ind Y- lVlJrf'MEIﬂL
B S—
slope of £, = 5= - = Thecelyre, for he
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>
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Event-full

At Lowell High School. the cost to attend special events depends on whether or not a student has
purchased a $10 discount card.

Option A: The student buys a discount card. The cost is $5 per event. =5 +10
Option B: The student does not buy a discount card. The cost is $7.50 perevent. C=7.5n

Graph the relationship between total cost and number of events for each option on the grid.
S

C (@) N

Total Cost vs. Number of Events

Ot By 7t
¢ “;n Justify yodg answer.

e0}—+——— L1

| st A TF Hhe studert atlends Fewer than
T T PO 4 events, OpHOM B s betfer.
AREY -F-'f;:{iog | TF the student atends more
W .Imjr';rée&io)n than L?L 6\/8»1‘!5) @pﬁ&’h A (S LE'HL’I”

c
nine the conditions under which a student at Lowell High School should choose each option.

70

%]
=]

Total cost ($)

N ERERRAR I For e)(a(;Jfl\/ 4 QV@VlJrS) both cﬂpﬁ'orﬁ
> have the same toial cost (430).

@

Toy Sailboats

Emelina makes toy sailboats as shown below. %{ :—f@?ﬁ}lﬁ oréa P 77@0)"8},—.) qu

e ChP il = =y
b=l =121 -16
n 2 h? = (05
T s h=Aes
o0 satmas

The area of
the shaded sails
/s about 4] cmg.

Determine the total area of the shaded sails.

Show your work.

Complete the table below.

El What's Missing? Justify your answers using geometric properties.
Consider the diagram below. OPFUSJ{J& Angle measure JSuasitication
I%Da"ggo——(ago Clm(gl'es ’I}u—_ M;Ss;n cth'_:a Je_'; ;n H&I‘LLVJ\GH_SIS.
= 2P 65° o | =en be ﬁzwd Lsing o pposiie cugles
SUF)Z[EM%;E N . O ctnd Suna o-FaJ-:g)es I o fw‘:ry-jle (130°)
Lal -
9 = 9 oo =4t o307 Crngl‘rL am‘jle}
126> 255 65"
ST e The missing angles in the guadri [dere.
! 559 San \b € S uond using Supplcw»eyr%m"y
. LD angles
sl ~ F0°-30° ' Y+ 5%+ 60°+ 72°=360°
108° '7529 . T - - Y;qu_qga—cooa"-f—"ao
+
;m:r ay%r;l)leqs
of & qua Y‘}!g{'@m‘ll
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